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1. Find, correct to the nearest penny, the cost of 17 tons 8 cwts.
‘1 gr. at £5 7s. 8d. per ton.
' [30 marks.]

- 23—1% . -4
2. Simplify 5} %2} © 13 x23—3%

[30 marks.]

~ 3. Find, correct to the nearest penny, the compound interest on
£450 10s. for 3 years at 39, per annum.
[35 marks.]

When & metal cube is completely immersed in water in a
ical vessel of diameter 2 ins., the level of the water in the
is raised 02 in, Find the length of the edge of the cube in
hes, correct to two places of decimals.

[35 marks.]
Or,

4. The amount of rain that falls on a certain horizontal field would
the ground with water to a depth of one inch. Express this
all of one inch in tons of water per acre, correct to the nearest

' .£'1 cubic foot of water weighs 62-3 Ibs.]
' [35 marks,]

. . 32:95 X(0-524)
6, Find the value of o220
s i 0-8147

s cant figures.
! [35 marks.]
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6. A dealer makes a profit of 209 by selling cars at £420 each,
What would be his percentage profit if he sold them at £392 each ?
If he reduces his selling price of £420 by 5%, and if the number of
cars he sells increases by 509, show that his total profits will be
increased by 5%,
[35 marks.]
Or,

6. A left a certain town at 1 p.m., eycling at 10 miles per hour, and
after a certain time he altered his speed to 6 miles per hour. B left
the same town at 2 p.m. and he followed A on the same route by car
at 30 miles per hour, but when he had travelled 10 miles he stopped for
25 minutes. He then proceeded at 40 miles per hour and overtook
A 12 minutes later. Find by means of a graph

(i) how far they had both travelled when B overtook A,
(ii) how far A travelled at 10 miles per hour.

[85 marks.]




